B FEL - FETXEREROME

1

BE - REDORAERUHERS XK

(1) 1BERU28BEE

(EAZ. ZFEIA1BKR)

% % =m | = =M | aF | S
o6 | 35E | 4a5E | 558 | 658
s x 55 50 25 25 25
apg |25RE A 100 95 85 85 85
BE-—X N 5 5 5 5 5
RE-_—X A 95 90 80 80 80
BERE - REmN x 55| 155 55| 155] 155
. EET: A 60 60 60 60 60
b _ 2EBRE N 95 95 95 9% 95
BRE S (TR A 0 0 0 0 0
Ra MRS R A 0 0 0 0 0
eSS N 29 50
e |2EmE N 101 97
= BAE-——X A 7 12
BE-——X N 94 85
BEHE - REEER A 144 140
=R )
o Ti -
" REBROYEER A 3 4
R NR B R A 3 3
(2) 3B@E
|
(‘DOaE (BEA#. &#F3A1HEER)
% % =m | = =M | SF | S
o | 35E | 45k | 55K | 65E
FAE x 10 10 10 10 10
"R N 10 10 10 10 10
BERE - REmH A 10 10 10 10 10
BEE RS A 0 0 0 0 0
el yMR B RER A 0 0 0 0 0
ESTE A 11 7
FHEAERE A 1 7
BEHE - REEER A 11 7
SRS A 0 0
R NR B R A 0 0
@1 - 2mE (EAM, KEIAIEES)
% % =m | = =M | aF | S
o | a5E | 45k | 558 | 658
R N 50 50 50 50 50
HREE A 50 50 50 50 50
BEHE - REHEER A 50 50 50 50 50
g B R B N 0 0 0 0 0
DAV R B A 0 0 0 0 0
e A 50 52
CETIES N 50 52
BEHE - REEER A 50 52
R A 0 0
ZrNEE R A 0 0




2 MEFEL - FETXEFEORABRUERAE
(1) EENMREERX

(EAE)
= 0 | =@ | a0 | = =
otg | afmE | a%E | sEE | 6%
RiAs A (N) 15 15 15 15 15
A (N) 15 15 15 15 15
RERTIR BB (D) 2 7 2 > >
ETT JHON) 77 A
— Y UON) 77 A
HRRIRAE BB _(HH) 2 2
(2) FBECTEUXIESE:E (ERIEA A
E ﬁ rl hr el el el
st | akm | afem | sEE | 64
RiAE ERANE (AH) 0 0 0 0 0
ERAHE (ABH) 0 0 0 0 0
RERTIR REB (D) 0 0 0 0 0
=% RO 0 0
— Y THONC) 0 0
7 SRR TH hF) 0 0
(3) B FETHERAEE (B - Y EAEL)
= T S 20 | a1 | &
25 | SEE | 45FE | 55E | 65E
RiAE EXEE (E) 250 240 230 230 220
MERE (AP 1 1 1 1 1
RRTIR Z 0 () 0 0 0 0 0
E3 EXREE (E]) 216 229
P ENER EETEEN) 1 1
TE Z 0 (B 0 0

(4) —HEMEEX, FETEMXIXBEX (MM3{M7) RUFETERIESHZE

BE 739 -b-FERRE - REABBRIEERZRCD
OHEBICE THERBREMNFE LE—FENIY FEIYRE)

(FREAN AR
B 4 = = = i =
24K | 3K | AFE | 5K | 65K
ENRRAH (AH) 1,520 1,510] 1,500] 1,490] 1,490
1 SEE 320 310 300 290 290
[ 2 5RE 1,200 1,200f 1,200] 1,200{ 1,200
HRAR ERAH (AB) 1,520 1,510] 1,500] 1,490] 1,490
HEERE (DVFT) 1 1 1 1 1
=fE (AH) 551 1,056
1 S58E 12 368
2 SEE 479 688
bk VIES ERAE (AB) 551 1,056
TRERE (DVERT) | 1




QHHEBIZETHHEBRENRE LE—HKEMY (BEHYRE) LS

(ERTEA A0
B 4 S SH S +f <
2FE | SHEE | 4a5E | 55K | 6FE
BEsAE JE~AE (AH) 165 165 150 150 150
EAAE (B 110 110 100 100 100
_pE3 L
B Y BB () 2 2 ? 2 2
BRE [DrIu— Hr—r -tos— (AE) 55 55 50 50 50
3 T [E~Am (AE) 0 0 0 0 0
MIASARRTA e o 0 0 0 0 0
=@F  |E~AK (AB) 53 55
sy BN Ef\E) 16 36
s BEB (D) 2 2
22" [prsu—wf—t 25— URm) 37 19
| PP E O v SO 0 0
’ T IwEE o 0 0

(5) WR. RRARESRER., FETERMEIIBRER (0734 -+ 4-BX0R
R - REMNTHRIEFEE])

(ERIEE A A%
B 4 <=0 <= < < <
2K | SHEE | A5E | 55K | 65K
RiiE (AH) 10 10 5 5 5
mERRBEE 0 0 0 0 0
J7S)—-HR—F €t —BE 10 10 5 5 5
e 2= EARAH (AR) 0 0 0 0 0
me | PREREERX —m o 0 0 0 0 0
-k S HAAE (AB) 10 10 10 10 10
T R e 1 1 1 1 1
E#E (ABH) 0 4
mERRBEE 0 0
J7S)—-GR—F - o A—BE 0 4
L TYETEONCD 0 0
sun | PREREER —m 0w 0 0
eSS HEAAH (AB) 0 4
TP -pbU4-BE TR () ] ]
(6) FETCEMENXESTE (773)--4F -M4-F%E) FEREDOH)
(EREEX AR
B 4 B g il < kil SrE il Srg il
2 | SHEE | 45E | 5FE | 65E
Rk (AH) 45 45 40 40 35
TS AONCD) 45 45 40 40 35
ETHONCD) 45 352
ARAEZE (AB) 45 352
(7) FAAEXEREX (D)
= » ZH | #A | #W | W | oA
26E | 35E | a5E | 56% | o&E
FiiE (DF) 2 2 2 2 2
EAL 1 1 1 1 1
RRAR BEL 0 0 0 0 0
(MDA
BT RER i 1 1 1 1
EE (HFR) 2 2
1]
e E e AL ‘ 1
BFRER 1 1




(8) AHRRELFHHEX

(BN
% 5 =® | oM | m | =@ | oM
of | 3 | a5 | 54% | 645
HoAE (L) 45 25 20 20 20
RS E (N 45 25 20 20 20
ETHON) 35 39
ETIES AON 3539
(9) BEXBYNEX EREREXREX (EAH)
% aH | & a1 | & %
24 | 3%E | a5 | 55E | 645E
e e HAE (L) 5 5 5 5 5
RAXEHMER EEAE (L) 5 5 5 5 5
i HEAE (N) 15 15 15 15 15
EREREXEER ERAE (N 15 15 15 15 15
et s ES- 0N 10 2
RARXEMAER SEANEE (N 10 2
. ETHON) 15 7
%1%n§4b$ib§$¥ ﬁ%ﬁ”%%ﬁ (A) 15 7
(10) IFIGERRERS (ERE~E )
% a% | a7 | @@ | @ S
24 | 35 | 45 | 55E | 64K
HAE (AE) 540] 540 480] _ 480] 480
ERAE (O 540] 540 480] _ 480] 480
ES-ONE) 361 539
EZIES - HONE) 361 539
(1) HREREBEFRER (A, AEIR1EES)
N =M | &M | m | oF | +W
24 | 34 | 44 | 54% | 64
RAE () 115 110 100 85 75
1~354& 90 90 75 60 55
s 4~65&E 25 20 25 25 20
BAE O |BHRER (M) 115 110 100 85 75
TR (D) 2 2 2 2 2
XEEER (D) 3 3 3 3 3
=R (N 63 58
1~354& 52 54
4~6F45E 11 4
EIES EEIREH (N) 63 58
TR (D) 2 2
TEEMR (D) 3 3
(12) RBRMR-FEIBRRAEE .
% 5 =m | oM | om | =@ | oW
ofE | 3 | a5 | 545% | 645
RBiAg (N) 5 5 5 5 5
RS E (N 5 5 5 5 5
ETHON) 4 3
WEE RIBMHE) 3 2
1 1

AERAEE (N

BME - TEEE WREEL)




